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PART -1
GENERAL ENGLISH

(1-5) : In the following passage, there are blanks, each of which has been numbered.
Against each number, four words are suggested, one of which fits the blank appropriately.
Find out the appropriate word.

The appointed day has come, and India stands (1) _again, afterlong_(2) and struggle,
awake, vital, free and independent. The past _3) _on to us still in some _(4) and we
have to do much before we _(8)  our pledges.

1. (1) here (2) forih
(3) free (4) forward
2. (1) period (2) slumber
(3) compulsion (4) exile
3. (1) sticks (2) faces
(3) extends (4) clings
4. (1) measure (2) quantity
(3) limits (4) ways
5. (1) take (2) redeem
(3) rectify (4) comply
6. We go yesterday.
Identity the appropriate word to fill in the blank.
(1) might (2) may
(3} hadto (4) should

7. A:lhaven't got any money.
B : Neither have .
C : Nor have |.
D : | haven't either.
Whose response to ‘A’ is grammatically correct 7
(1) B's (2) Cs
(3) D's . (4) All the three are correct
MEC/CEC | 2] |
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8. Thisisn'tvery interesting, ?

10.

1.

12.

13.

Complete the sentence choosing the correct guestion tag.
(1) isn't it (2) isn't this (3) isit (4} is this

They have built a new hospital near the airport.

The passive form of the above sentence is

(1) A new hospital has been built near the airport.

(2) A new hospital was built by them near the airpbrt.

(3) A new hospital is built by them near the airport.

(4) Anew hospital is being built by them near the airport.

Do you know ?

Identify the later part of the sentence.
(1) what time does the film begin

(2) what time is the film begin

(3) what time the film begins

(4) what is the time the film begins

The man / which lives / In this house / is from Kolkata.
(a) (b) (c) (d)

The sentence is divided into four parts — a, b, ¢ and d. identify the part of the
sentence that has an error. '

(1) (a) (2) (b) @) (¢ - (4) (d)

| usually get up early but this moming | at9.30.

Choose the appropriate phrase to fill in the blank.

(1) hadgotup (2) was gettingup

(3) usedtogetup - (4) gotup

This road is very dangerous. There many acéidents.

Choose the correct option to fill in the biank.

{1) hasbeen (2} were (3) arebeing (4) hadbeen

MEC/CEC [3] (P.T.0)
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14. Raghu : _ ?

15.

16.

17.

18.

19.

Sreenu: It takes four hours by train from Hyderabad to Vijayawada.
Identify Raghu’s question from the following.

(1) Whatis the distance between Hyderabad and Vijayawada

(2) How long does it take by train from Hyderabad to Vijayawada
(3) Whatis the time taken from Hyderabad to Vijayawada

- {4) How will you go to Vijayawada from Hyderabad

Oxford is famous for University.

Choose the appropriate word to fill in the blank.

(1) it's (2) their (3) its (4) our
Which flowers do you want, ?

Choose the correct option 1o complete the question.

(1) These or those (2) These ones orthose ones
(3) This cnes or that ones - {4) This ones orthe cther ones
a) | gave to Padma the keys.

b) | gave Padma the keys.

Read the sentences (a) and (b). Identify the correct sentence(s).

(1) Only (a) is correct (2) Only (b) is correct

(3) Both (a) and (b} are correct (4) Both (a) and (b) are incorrect

Write your name the top of the page.
Identify the correct preposition to fill in the blank.
(1) on (2) in (3) at (4) to

If Laxmi did not have a job, what would she do ?

The above sentence teils us that

(1) Laxmihas a job. (2) Laxmi has nojob.

(3) Laxmi used to have a job. {4) Laxmiwanted to have a job.

Choose the word with the correct spelling.
(1) grammar (2) genuin (3) glous (4) greenary

MEC/CEC [4]
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21. We were touched by the honesty of the beggar.
The underlined word means -
(1) impressed (2} moved (3) surprised (4) horrified

22. Hardly had | finished writing the letter before Karthik arrived.
The underlined word can be correctly substituted by
{1) then (2) while (3) as (4) when

23. We are so poor _
_ Identify the later part of the sentence.
(1) toeducate her son. (2) that you can get this job.
(3) thatwe cannot buy books. (4) that!cannot walk anymore.

24, The word ‘landlady’ is a

(1} vegetable (2) person (3). place (4) thing
25. Trytoprevent all diseases.

Choose the correct form of the underined wprd to fill in the blank.
(1) prevention (2) preventing (3) prevented {4) preventive

26. \dentify the pair of words in which the underlined parts are pronounced in the same

way.
(1) head-bread (2) lead -great
(3) great-bread - (4) lead—head

27. Your friend offered you a cigarette. You don't have the habit of smoking. What
would you say to him ?

(1) 'mhappy! (2) It's s0 nice !
(3) No, thanks ! (4) ldont mind!

28. Children are always curious.
Identify the part of speech of the underlined word.
(1) noun {2) verb (3) adjective (4) adverb

MEC/CEC [5] (P.T.0)
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Anusha is the most beautiful of all the girls in our coliege.

The sentence can also be written without changing the meaning as
(1) Very few girls in our college are as beautiful as Anusha.

(2) No other girl in our college is as beautiful as Anusha.

(3) Some other girls in our ¢college are as beautiful as Anusha.

(4) Anusha is more beautiful than some other girls in our college.

Identify the correctly-punctuated sentence.

(1) Mary whois an intelligent student has passed the examination
(2) Mary whois, an intelligent student has passed the examination
(3) Mary !'whois an intelligent student, has passed the examination
(4) Mary!whois an intelligent student has passed the examination

The sentences labelled a, b, ¢, d, e are jumbled. identify the correct order.
a. He wants to see Siddu.
b. Snoopy goes to school.
c. Itisthe headmaster’s room.
d. Snoopy goes to a room.
e. Sidduis not there.

(1) a,c,deb (2) b,a,d,c,e
(3) b,a,c e d (4) d,e,c,a,b

Many of the problems were caused by a in communication.
Identify the correct option to fill in the blank.

(1) break through (2) breakup

(3) break out (4) break down

‘God exists and loves everybody' is
(1) afact (2) abelief (3) anissue (4) aview

MEC/CEC (6]
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34. A:These trousers I've bought are too long.

B : Well, why not get ?

Choose the correct option to complete B's reply.

(1) them shortened (2) them a short cut
(3) them widened (4) them narrowed

35. “Itwas | who broke the vase,” he .
Choose the verb which best fits the meaning of the sentence to complete it.

(1} shrieked (2) beqged

(3) confessed (4) complained
36. Identify the word which can be used as a noun or an adjective or a verb.

(1) ache (2) faint (3) swell (4) shiver
37. Choose the right suffix to make the word ‘content’ a noun.

(1) =l (2) —ship (3) ~hood (4) —ment
38. Qurteamwon three goals/points.

Identify the correct preposition to fill in the gap.

(1) by (2) with (3) on (4) for

39. Identify the compound sentence.
(1)} |saw a man when | was going to college.
(2) |told Leela that Rani was a liar.
(3) He is absent because he is sick.
(4) You work hard or you will fail.

40. |dentify the antonym of ‘Harmony'.

(1) Success (2) Conflict (3) Joy (4) Solace
41. One who is well-versed in the science of female ailments is
(1) AGynaecologist (2) A Dentist

(3) ADruggist (4) An Oculist
MEC/CEC 7 | | . (PTO)
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42. |dentify the set of words arranged in the alphabetical order

(1} relax — religion — release — relish

(2) religion - relax —relish — release

(3) relax — release — religion — relish

(4) relish —relax — religion — release
43. ‘Shall i do it for you 7’

The ‘language function’ of the sentence is

(1) seeking permission (2) making an offer

(3) asking a question (4) making a suggestion
44. He is in great troubles. He is cheerful.

The combined form of the above two sentences begins with

(1)} Forall

{2) Sincehe

(3) Besides being

{4) Assoonas he
45. Everywhere elegant old buildings are being and mediocre modern

structures are being put up.
Choose the appropriate phrase tofill in the blank.
(1) pulled off (2) pulledup

(3} pulled through (4) pulled down

46-50 : Read the passage carefully and answer the questions that follow.

“The history of science is the real history of mankind”. In this striking epigram a nineteenth
century writer links science with its background. Like most epigrams, its power lies in
emphasising by contrast an aspect of truth which may be easily overlooked. In this case
it is easy to overlook the relations between science and mankind and to treat the former
as some abstract third party, which can sometimes be praised for its beneficial influences
but frequently and conveniently blamed for the horrors of war. Science and mankind

MEC/CEC , : [8]
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cannot be divorced from time to time at men’s convenience. Yet we have seen that,
inspite of countless opporiunities of improvement, the opening years of the present period
of civilisation have been dominated by international conflict.

Is this the inevitable result of the progress of science or does the fault lie elsewhere ?
46. The sentence, “The history of science is the real history of mankind” means
(1) science has given man countless opportunities for improvement.
(2) science and mankind cannot always be divorced.
(3) mankind has progressed as science has developed.
(4) the good and bad uses of science reflect the character of man.

47. The epigram given in the passage highlights
(1) the evolution of science
(2) the real history of man
(3) the contrast between science and civilisation
(4) an elusive truth about human nature

48. The aspect of truth likely to be overlooked is that
(1) science has made war horrible
(2) science is beneficial to man
(3) science is what man has made it
(4) science has created international conflicts

49. The writer implies that international conflict is the result of
(1) faulty relations between nations (2) human weaknesses
(3) invention of deadly weapons (4) progress of science

50. The last sentence suggests that
(1} civilisation could prosper well without scientific inventions.
(2) the trouble lies with human beings themselves.
(3} peolple have missed opportunities to improve their lot.
(4) the horrors of modern life are the inevitable result of the progress of science.

MEC/CEC [9] (P.T.0)
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PART -l
MATHEMATICS

51. If A and B are two disjoint sets, then the value of ANB is
A, B oo Dot Daxug 50830 A NB deos
(1 ¢ (2) A

(3 B (4)

52. ~({p> q)isequalto
~ {p = Q) O BITSPIO
(1) ~p=~q (2) ~q=~p
(3) PA~q 4 pv~q
53. Iff{x) = x + 1, then the value of 3-1(2)-2-1(3) is
f(x) = X + 1 e0xd 3-1(2) - 2-{(3) D), do0i
(M o @ 1

3) 2 (4) 3

54. The solution of x? — 5x + 4 < 0 lies between
(1) 1and4 (2) 2and3

(3) —1and-4 (4) —2and-3
X2 — 5X + 4 < 0 cloog), S eI B¢ doeaod

(1) 1280004 (2) 2580503
(3) —138a—4 (4) — 2350003

MEC/CEC (10]
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55. If x+%:4, then the value of x—-:? is

x+l:4&9cm3_59 X-—l Desss
X X

3

(1) 32 @ %
@ - @ 23

56. If the roots of an equation px2 + gx + r = 0 are equal, then

P +gx + =0 & 30800 Coos), Sorreres S57S0 @oasd
(1) ¢®=pr (2) 9*=4pr
(3) PP=4qr (4) p=ar

57. It AM. and G.M. of two numbers are 16 and 8, then the value of H.M. is
Both) Sogm 90KIGEH B0 MHE 650 IR 16 559800 8 eronsd Te3 S5oiacipiona

2D
(1) 12 (2) 8
(3) 4 (4) 6

58. The graph of x = — my? lies in the quadrants
(1) Q,andQ, (2) Q,andQ,
(3) Q,andQ, (4) Q,andQ,
X = — My? 300D Bgrdigso eol oo
(1} Q, e Q, (2) Q, %8m0 Q,

(3) Q, s8at Q, (4) Q, 3080100 Q,

MEC/CEC _ [11] | (P.T.0.)
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859. If x — 3is a factor of 2x? + 9x + k, then the value of 'K’ is
2%2 4+ 9X + K 0 X = 3 o8 TEerossn eond K Deod
(1) 456 (2) ~-45
(3 -9 (4) 9

680. If (x +vy, 1) = (3, y — x), then the value of X’ is
(X+y,1):(3,y—x)®owéxﬂw§ ‘ ‘

(1} 0 (2) 1

3) 2 4) 3

61. If (X%T = x%, then the value of 'p’is
[x%]p = x? wad P’ eus

(1) 3 (2)

w|—=

(3 2 (4)

N —

62. If cos®= % then sin(90 + 6) is equal to

0080=12 £0x sin(90 +6) Sews

13
(1) o @ 2
5 -5
3 13 4 33

MECICEC [12]
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63. The shape of the decision box in a flow chart is

(1) Rectangle (2) Ellipse

(3) Rhombus (4) Parallelogram
E50 BoE” AW DedE e

(1) &g sasEs (2) &g sy

(3) coed . (4) 7oBs BHogRs

64. Two circles with radii ‘R’ and ‘r' touch internally. If the distance between their
centres is ‘'d’, then '

‘R’ Sodatn I’ agdreren o Do yies sodton HyBoliootndyom. el Sogre Ju¢ 870

' cosd
(1) d<R-r | (2) d=R+r
(3) d>R—r | (4) d=R-r

65. It x=tan0+secH,y=tan6—secH, then

x =tan® + sec §; y = tan 6 — sec Hesond
(1) xy =1 (2) X2+y2=1

(3} xy=-1 (4) x*—-y*=1

66. If the median of the data x% %— % and % is 10, then the vaiue of ‘¥’ is

x.%,%,%mmgdm&w§b;§3¢§ﬁi’so10am}3xamé
(1) 10 (2) 20
(3) 30 (4) 40

MEC/CEC f13] (P.T.0.)
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The slope of the straight line %+ % =1is

—;~+%=1 A D0D SEE3P clns), e

2 3

-2 -3
(3) T (4) —2—
If sin®=cos28, then cot38 value is
Sind = c0s 26 wowd cot 30 ded

’

(1) V3 @ 75
(3 O 4) a

For a given data, mean is 39 and median is 38, then its mode is equal to
2.8 ST o), Bifes 39 H000x S350 38 @0t T TR Deod

(1) 36 (2) 37
(3) 38 (4) 40

If 5 -5°™ =0, then the value of X' is

5% -5° = 0 wond X' Je3

(1) O (2) -1
(3) 1 4) 2

. If A=60°, then the value of 2sin4/-cos4, is

A = B0° woxd 28in4, - cos A, dens

M 7 @ 2
@ 43 @ =

MEC/CEC [14]
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72. The point of concurrence of altitudes of a triangle is

(1} circum centre (2) ortho centre
(3} centroid {4) incentre
2.8 3a0e08 &y 8sg Dok

(1) 25Z2ogssw (2) oo ot
(3) rothiss o (4) eowssioEswy

73. If A= AT, then A is calied

(1) Scalar matrix (2) Skew symmetric matrix
(3) Symmetric matrix (4} \dentity matrix
A=ATsand A '

(1) eoTsras (2) o¥isirGs

(3) e somdE (4) By Sodx

74, Thevalue of *1' radian (approximately) is
1" 3o diang), Dewss (RosTont)

(1) 56°16' (2) 57°1¢’
(3) 58°16 (4) 59°16
75. if two circles touch internally, then the number of their common tangents is
©OBTON™ FOBILR Vo> HyTroh Aabie &lod HtBee Hogy
(1) 2 (2) 3
(3 O 4 1

76. If the matrix A = [2 ﬂ is singular, then the value of 'k’ is
4
4 k

(1 2 (2) 4 (3) 6 (4) 8
MEC/CEC . (15] (P.T.0)
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77. The point that satisfies the equation 3x +y < 41is
Ix+y=4 ?63%533;5563@065&@
{1) -1,-2) 2) -1,9
3y (1,2) (4) (0,6)
78. lff: R >R, {{x) =2x - 3, then f(x + 1) is equal to
f:R—-R, f(x) = 2x — 3 eowd (X + 1) 3r20d8
(1) x-1 (2) x-3
(3) 2x-3 {4) 2x-1
79. The limiting position of secant of a circle is
(1) Radius (2) Diameter
(3) Chord (4) Tangent
S5y D50 Ao, D
(1) rgrgw (2) wgsso
(3) e (4} 5l
80. If In=x, then =n° is equal to
TN = X eond I’ 60 58m52080
(1) x | (2) x2
@) Vx (4) 2x
81. If"C,="C,, then the value of ‘n’ is
r'CG ="C, &0xd N’ Devd
(1) 3 2 9 (3) 12 (4) 15

MEC/CEC [16]
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The perpendicular slope ofaline5x -2y +4=01is
5X =2y + 4 = 0 % womerr é:soééaacﬁws’bm
2 -2
) 3 2) &
2

(3) (4)

N On

The area of a triangle formed by the line joining the points (4, 0) and (0, 5) with the
co-ordinate axes is (in sqQ. units)

DEFSY esgreiy 200010 (4, 0), (0, 5) Dotsopenss 5 SBptd $o¢y eaSBoBedsS Bdbes PFreghn
(. cBrded)

(1) 6 (2) 8 (3) 10 (4) 20
The maximum value of an objective function f = x + 4y is at the point
oF 5 ©R0080 = X + 4y Qo) KBR Do B Dotosy $¢ dobod

(1) G, 0) (2} (4,0)

(3) (0,5) (4) (0.8)

Harmonic meanof 6 and 3 is

B SoBatn 3 © o) I8 o5t

(1) 4 (2)

RO b=

3 342 (4)

AABC ~ APQR. If AB=3.6, PQ = 2.4 and PR = 5.4, then the value of AC is

AABC ~ APQR. AB = 3.6, PQ = 2.4 5805 PR = 5.4 @05 AG Ddeod

(1) 36 (2) 8.1 (3) 5.4 (4) 7.8

MEC/CEC (17] (P.T.0.)
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87. 115" =6,6'=7 and 7° = 5, then the value of xyz is
5°=6,6" =7 20080 7" =5 ©awd XYZ Do
(1) 210 (2) 18 (3) 1 (4) ©

88. The 10" term of the series % —3— % --- is equal to

333

Er Z: '"8_1'-- @5@@&105%@3

W 5 @ =
3 3

®) 512 ) To22

89. If the function f:R — R defined by f(x) = 3x — 4, then {(x) is

1R 5 R o5 ioared, 1(x) = 3x — 4w 2650% £7(x)

(1) x;4 (2) 3x+4
(3 *32 (4) 3x—4

90. Iftan(A+B)=,/3 andtanA=1,then £B is

tan (A + B) = /3 oeawtan A =1 eaxd £B ool

(1) —’3_‘ )

=

n .
@) & N

MEC/CEC 18]
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81. The mean of 10 observations is 16.3. If an observation 23 is wrongly recorded as

32, then the correct mean is

10 @o¥s0e e 16.3. e0th e 0850 De05 23 D excooor 32 ed S S5, [0 i
(1} 15.04 (2) 154

(3) 17.2 4y 17.02

92. The length of the tangent drawn from the point ‘P’ which is at a distance of 5 cm

from a circle having diameter 6 cm (in ¢cm)
6 2o. Do, TEHD Mo BHBI0SH oD ToiEw wod 5 0. W, (ed” Ko P’ Hock Sood &8
o0 A, o ey (0. Do)

(1) 5 | | " (2) 4

(3) 3 (4) 2

93. The quadratic equation, whose roots are 2 + /3 and 2 - /3 willbe

2+ V3 %200 2~ /3 Bareren flo 3¢ wDostea0
(1) x*+4x+1=0
(2) x*+4x-1=0
(3) x?-4x+1=0
@) x*-4x-1=0

MEC/CEC [19] (P.T.0)
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94. if there are ‘n’ arithmetic means between ‘a’ and ‘b’, then the common difference ‘d
is equal to

‘A D’ © 50655 N ot Mgt Ko, ‘0" StroBto sans ‘A’ Dess

0
C

+1

(N

T o
I
o

|

2

=3
|
—

0
+
o

{3)

=
1
—y

N+

o
o}

|

(4)

—r

95. If AcB, then Au(B-A) is equal to
A cBecsd Au(B-A) HI3risase
(1) @ | (2) n

(3) B 4) A

86. The n'" term of the progression 2.3+ 34+ 45+ ...is

234+3.4+45+.. 2338 'n 5550
(1) n(n+1)

(2) n+1){n+2)

(3) n{n-1)

4 (n—-1)(n+1)

MEC/CEC. [20]
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97. If a° = 0.04, then the value of a° is

a® = 0.04 wod 2° des

(1) 0.8 (2) 0.08 (3) 0.008 (4) 0.0008

98. A histogram consists of

(1) Rectangles (2) Triangles
(3} Circles (4) Sectors
s S Do (Histograms) s@Actoodd

(1) &g vsogiEswe (2) Sevemwe

(3) myze (4) e

1 2 3
— T ;
99. i A_[4 5 6]’ then the order of AT is

123 .
A=, 5 g oondAT 0y, 860

(1) 3x3 (2) 2x3 (3) 2x2 (4) 3x2

100. The centroid of the triangle whose vertices are (0, 0), (6, 0} and (0, 8) is
(0, 0), (6, 0} So80 (0, 8) Foresn #o Gaberin dlond), KxiiSoEhan

0B el

@ (53) @ 6 6)

MEC/CEC [21] (P.T.0)
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PART -1ll
SOCIAL STUDIES

101. India has a total geographical area of

(1} 3.28 million sq.km (2) 3.38 million sg.km
{3) 3.48 million sq.km (4) 3.58 million sq.km
GPOBGHY Ao FRDE Do

(1) 3.28 200008 5.8.00. (2) 3.38200008 3.8
(3) 3.48 1BanSw.ddn. (4) 3.58 200a¥0S 5.8.20.

102. The latitude which passes half way through the country is

(1) Tropic of cancer (2) Greenwich line

(3) Tropic of capricorn (4) Equator

B0 B0GgT Fdb 5o By

(1} &3 (2) xS (3) 255 (4) st B
103. The South West ward extension of pirpanjal range is called as

(1) The Shivaliks (2) Dhaula Dharrange

(3) Karakoram range (4) Pamirranges

205020 S BB Pood TR B WEHE Deoard

(1) %88 33 (2) &5diFes (3) =Ese@ed (4) Dr2ob BexB@Eed

104. The National Fiood Control Programme was launched in the year
2 Ho BEe5 HADOEE TCEH00 FIOF8ES SoBE 5N

(1) 1952 (2) 1953 (3) 1955 (4) 1954

105. The serious consequences of wind erosion are seenin

(1) Rajasthan (2) Maharastra

(3} Uttar Pradesh (4) Madhya Pradesh

) Egonin S DB &S sdoes 81 oo rNosn

(1) oeps (2) oo (3) ausHts (4) 20503

MEC/CEC _ [22]
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106. The maximum hectarage under tank irngation is found in

(1) Manipur (2) Kerala

(3) Andhra Pradesh (4) Goa

DD o Tl 2R B Tgod” wBlson &50

(1} Soedirb (2) S (3) esogdE (4) &%
107. The benefits of ‘Kosi project’ are shared by

(1} India-Pakistan (2} India-Bangladesh -

(3) India- Nepal (4) India- Mynmar

'S B B AT otk Boh ST _
(1) oS-35 (2) vod-wapdd  (3) ou6-308  (4) 2705 - avmb

108. The biggest oil refinery in India is located at

{1} Madhura (2) Sikkim (3) Hyderabad (4) Jharkhand
FREBT0S" B e S0t Kof ¥orgriso Rt Fhotedst :
(1) oo (2) 2§0 (3) uoerd  (4) ol

109. The Longest National Highway in India is .
(1) NH-5 - (2) NH-9 (3) NH-4 (4) NH-7
PUSBLBOS” B0 IS WHAH SIS
(1) 53008 erdad S5m0 (2) 95 Doath rdoD Serd
(3) 450wt rdad Swd (4) 7 %ot edah SSTd

110. The highest peak in Nilagiri hills is

(1) Anaimudi (2) Doddabetta

(3) KanchenJunga (4) Annapurma

oo Fotod”® DG 350

(1) epsnd (2) Sy (3) sosvior  (4) emTy
111. The retreating monsoon causes substantial rainfall in -

(1) Malabar coast (2) Odisha coast

(3) Coramandal coast (4) Karnataka coast

SERSS 22080559 Tood’ 1 Hod’ HBemr Hgo S6RD

(1) Sovero@so (2) el dSo (3) Tosrasddco (4) Srezdso

MEC/CEC [23] (P.1.0)
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112. According to 2001 census the density of popuiation in Delhi was
2001 errar 84,0 5760 B asSrogs
(1) 65 (2) 903 (3) 13 (4) 924
113. The type of soil is suitable for cuitivating for jowar crop is
(1) Alluvial soil (2) Black clayey soit
(3} Desert sail (4) Loamy soil

£ Botr HotsoerE 51 85 S8500 @ETOONT &otFoN

(1) eoghsiongsor (2) Somemesndtos (3) go¥sndtes (4) oo 30dse
u) =] 0)—0 Q)—" o)

114. The Gold reserves are located in the Andhra Pradesh region of

(1) Chittoor (2) Krishna (3) Khammam (4) Anantapur

SOEHDEE” 30100 ©L0D EroBo

(1) Dage (2) sp% (3) a0 (4) esospoo
115. The State have more number of Sugar Factories in India.

(1) QOdisha (2} Nagaland (3) Uttar Pradesh (4) Rajasthan

arBtEod” 2,5 Vo’ DoBErS Koo fio Tgo

(1) adwe (2) weoh (3) &as SOF (4) ous
116. The inland water way between Andhra Pradesh and Tamil Nadu is

(1} Buckingham canal {2} Sirhind canal

(3) Kencanal (4) Periyarcanal

SOEEOF 00 BRTTE TS fo woBgdal wesrdo

(1) 2éohFSH e (2) 38irod Tenn (3) 38 zrens (4) 2BexwE mens
117. The total number of Islands situated in the Bay of Bengal are

2omwErsed” o S Sogg

(1) 220 {2) 221 (3) 222 : (4) 223

118. Napoleon was greatly influenced by the Philosopher

(1) Aristotle (2) Rousseau (3) Nietzche | (4} Socrates

JFVODSE OB (PETAB0 WD B 5
(1) eomds (2) arr (3) (4) 283D

MEC/CEC [24]




0N OO A O R Q. Booklet A
Code

119. The French representative attended the Congress of Vienna heldin 1815 was

(1) Lord Castlereagh {2) Metternich

(3) Talley Land (4) Francis

1815, Doty Skrdded” IRy o) 939

(1) obseddh (2) owd§ (3) erderol C{4) 0%
120. The Principle of ‘Right 10 Work’ was advocated by

(1) Robert Oven (2) Louis Blanc

(3) Saint Simen (4) Karl Marx

DT, AP DOTEODD T

(1) oubids (2) orarepck {3) ool s (4) sodardy,
121. The Headquarters of the League of Nations was established at

{1) New York (2) France (3} Italy (4) Geneva

TerB 13008 ST T 000 3ty ol

(1) soEs, (2 &% (3) aed (4) ad
122. The book written by Hitler treated as Bible for Nazis was

(1} Communist Manifesto (2) Das Capital

(3) Mein Kamt (4) Warand Peace

oo Dor Erdrots b togo

(1) 07 SRR (2) oosbed

(3) 20w o (4) =EechdS
123. The person who led the freedom struggle and brought Independence to Chile and

Peruwas

{1} Simon Bolivar (2) Robert Mugabe

(3) DonPedro (4) Jone-D-San Martin

0B, 2t Do DB TohEEd” oo Forran '

(1) 2508 5856 (2) ooof soored (3) =5u& {(4) &&-&-755085
124. The Chief architect of the Non-Alignment Movement was

{1} Indira Gandhi (2) Jawaharlal Nehru

{3) Motilal Nehru (4) Rajiv Gandhi

DS &350 (T G0,

(1) zotTrrob (2) 2358rSase (3) doddpe (4) odSmod

MEC/CEC [25] . (P.T.0)
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125.

126.

127.

128.

129.

Code

The Founder of ‘Communist Party of China’ was

(1) Mao-Tse- Tung (2) Ho chi Minh
(3) Chiang- Kaishek (4) Yuan Shikai
'S5 o & g THENE

(1) 595 - &% - a0k (2) F-0-25

(3) Datrof sownE (4) coerS-Sesom

The new art of the Kanishka period was known as

(1) Ajantha art (2) Amaravati school of art
(3) Gandharaart (4} Madhura school of art
A0, TS HIUS B

(1) vzomr3aopw  (2) o983 (3) Mol (4) S0 oy

The first person to state that eclipses are caused by ‘the shadows of the earth
falling on the moon’ was

(1) Aryabhatta (2) Varahamihira (3) Kautilya (4) Charaka
B Gloo); OO0 SJOER 2K BTN — PETETRD S0 e R DepIs
(1) ety (2) sowtuirten  (3) Tedoogd (4) oo
The Christian Missionary established- Serumpur College in Bengal was
(1) Alexander Duff (2) William Keri

(3) Lord Dalhousie (4) William Bentick

BOTSED ROPSH0 S e uEE B D08 s

(1) edposban  (2) DDabosh (3) ebagh (4) 90ano Hoedot
In India, the movement staried by Muslims against the British was

(1) Vandemataram movement (2) Non- Alignment movement
(3) SaltSatyagraha (4) Khilafat movement
eroadiod Be3nTr08 S8 som Snoen DRSO &0

(1) SodurBos éeio (2) ©dFisgsonn

(3) ey Sy asgoo (4) Herpd adgio

" MEC/CEC [26]
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130.

131.

132.

133.

134.

The editor of Sanjivani News letter was

(1) Sisir Kumar Ghosh (2) Subramaniya lyer

{3) Bala GangadharTilak - (4) Surendranath Benerjee
“ROBID HIBE BOJUTEE

(1) 835 0578 prh (2) Rogaoes eoaind

(3) erorored ook (4} “Bogsed B39

The famous scientist left Germany during Hitler's dictatorship was

(1) Sirisaac Newton {2) Albert Einstein

(3) Grahambell (4) Marconi

2630 Dowodyhs Tesé” athon 56O 3PS B TN

(1) 2Bowfsrgsd (2) ogbadys (3) mrodd (4) 280
The founder of Bolshevik Party in Russia was

(1) Nicolas - Il (2) Czar Alexandar !l

(3) Lenin {4) Father Gupon

X6 €FYDE 2P oD

(1) 285 -1 (2} w6 odrpodh |

(3) 825 (4) rsbE>rS

Among the World Languages, The Telugu Language status at the position of
(59013 ardooedd’ Beokd grATNo

(1) 16 (2) 17 (3) 18 (4) 19
The Officer appointed for each constituency 1o supervise and conduct elections is
called as '

(1) Presiding Officer {2) Polling Officer

(3) Returning Officer (4) Commissioner
&5 CUres 56 IYse G o800 SORFETHSE

(1) dpdohwdss (2) Pofedsd (3) Bedohedsd (4) Lousd

'\ MEC/CEC [27] T (P.T.O)
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135. National Literacy Mission was established in this year

2BAH oS 20iS oSS oshto
(1) 1988 (2) 1989 (3) 1990 (4) 1991

136. The Total number of Republics in Latin Amernica are
35 &52005°6" o Booios 0588 Hog;

(1) 24 (2) 25 (3) 26 4) 27

137. The first General Elections were held in the year in our country
208EhFos" 2007000563 T Anion BB ReNTEE

(1) 1949 (2) 1950 (3) 1951 (4) 1952
138. During the British rule the scheduled castes were called as

(1) Dalits (2) Depressed castes

(3) Scheduled castes (4) Scheduledtribes

WETS oero T DR TO T Tood & 08 bendadis

(1) oo (2) eerdIcbeds Hereo

(3) Ry Lo (4) 23 erdood

139. Right to Freedom guarantees the following number of freedoms

(1) Six (2) Seven (3) Eight (4) Nine
TR, A HEE0 Rysihoth enSSENoD
(1) e (2) o (3) 200 (4) &0
140. The Power vested with the permanent member countries of the U.N. Security
Council is
(1} Supervising power (2) Discretionary power
(3) Vetopower (4) General power
2085 Ooesg ADET) PET S0t T ek AT Ko efso
(1) soFgerasco (2) Dugerisvo
(3) ©OLOHD (2e5°) @bzt (4) Srorse: ebsto

MEC/CEC [28])
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141.

142.

143,

144,

145.

Code

In 1973, the Algiers Conference of the Non-Aligned Nations called for the
establishment of -

(1) Renewable resources , (2) New intemational Economic Order
(3) National Remote Sensing Agency  (4) Environmental Protection

1973 &° 285,58 20/ e D770 355550 8 edr HReDA

(1) Doy Ssbeo (2) SrEH eoBPAOL &R NSy

(3) =rBODH TS AT S0P (4) Sogscer 5085k

The Social Housing Scheme implemented particularly for the weaker sections of
the society was

OIS Sove MRASSTrER: Shio §%o SrdreBolis 5o

{1} SGSY (2) JGSY (3) IAY (4) RWP
The type of inflation relevant to india is

(1) Demand - pull inflation -{2) Cost push inflation

(3) Hyper inflation | (4) Core inflation

arOSGED3 15 S5 BT es0 58700 |

(1) dsrobd s$Sigeo (2) sjoaeTgeo

(3) by (4) s eSS

The unemployment more relevant in the Indian Agricultural Sector is

{1) Voluntary unemployment (2) Involuntary unemployment
(3) General unemployment (4) Disguised unemployment
RIBT SEIOhSoNod” &e DD o e SRS

(1) =7 S debyo (2) etmyIrE oSy

B) I Sy : (4) eppedc -

In 1995, India’s Per Capita Income was -
(1) 3308 (2) 340$ (3) 350% (4) 360%
1995 505,508 st b esmroo o

(1) 330z (2) 340cey (3) 350zt (4) 3600

MEC/CEC {29 (P.1.0)
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146.

147.
148.

149.

150.

Code

The income earned through wealth and property is known as

(1). Earnedincome (2) Uneamedincome
(3) Non-taxable income (4) Revenueincome
S0, 900 Sood ol estrarly FT DBESEY ,
(1) Rores esTabo (2) edoIas estrobo

(3) Sypssexroto (4) TarsesTabe

The continuous exploitation of economic resources by the British rulers was termed
as “Plunder of Economic Wealth” — by

(1) D.R. Gadgil (2) JawaharialNehru

(3) Amartya Sen . (4) Dada BhaiNaoroji

Qedndrotoe 0k edt o Tofio” i ©8S800R T

(1) D.R.w&s (2) esrberddor  (3) emnggs (4) woerorn IEE

The difference between voluntary and _i'nvoluntary unemployment was first
distinguished by '

(1) JM.Keynes (2) Malkhus

(3) Raghuram Rajan (4) Adam Smith

VT TS, 0 MO Te 06 AT 20u¢ses H0GoDs IO

(1) J.M. 45, (2) 57 (3) shoordorns  (4) ecoBs
The pattern of shareholding with in a firm is known as

(1) Equity (2) Share (3} Investment  (4) Interest
285038 TPePREs IADA JE° VLT

(1) <ol (2) w0 (3) mepnd  (4) 5§
The Bank which control and regulates the flow of money and creditin India is
(1y SBI (2) AndhraBank

(3) Reserve Bankofindia (4) Central Bank

grSERE08" KSSRT o o P

(1) HeSerol eshgodiarr (2) esogrerek

(3) 3=b aJ“gog 8D OGO (4) ogderes

MEC/CEC . (30]



